CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET
1) Early childhood is a period for emotional development.
(1) sensitive
(2) slow
(3) passive
(4) disturbing

ATATAEAT T (AT 31T, ATAATH=T f2=d & forT v T gl g |

(1) FEEmefter
(2) FEa/drET
(3) it

(4) TEITHIETT®

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_109_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following statement is not correct in context of development?

1) Children develop at different rates.

3) Development is relatively orderly.

(

(2) Development takes place gradually.

(

(4) Development is always discontinuous.

e % 5T § 791 § & F9-971 F99 957 g e ?
(1) == HATIT-AAT AT I AT g9 2 |
(2) Faswma wHF TTHETE |
(3) A= T8 ATATEHT = H =Haedd gar g |
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_109_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Which of the following is determined only by heredity factors ?

1) Colour of eyes

(
(2) Level of understanding
(3) Interest

(

4) Emotional maturity

e | & FI7-77 Fae AT FICHT 7 (Heifa grarg ?

(1) &tET =TT

(2) TH FT TT

(3)=H

(4) ATAATHF THTFEET
[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_109_Q3]
1 [Option ID = 9]
2 [Option ID = 10]

. 3 [Option ID = 11]
4 [Option ID = 12]
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4) According to Jean Piaget’s theory of cognitive development, at which stage do children begin
to think through operations logically in one direction ?

(1) Sensorimotor
(2
(
(

)

) Preoperational

3) Concrete operational
)

4) Formal operational
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(1) FARTITHF
(2) TH-H e
(3) T AT
(4) Srg=TF GiFaTET
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_109_Q4]
1 [Option ID = 13]
2 [Option ID = 14]

3 [Option ID = 15]
4 [Option ID = 16]

A w N =

5) As per Jean Piaget’s theory, the process of adaptation to the environment incorporates :

(1) Assimilation only
(2) Accommodation only
(3) Both assimilation and accommodation

(4) Neither assimilation nor accommodation



st fOaTsr & TgTd & aqare, S99 ATaEar § aqgod s Tiar 3§ #2471 gt
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(1) FaeT THTIIT

(2) FAT THTAT
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_109_Q5]

1 [Option ID = 17]
2 [Option ID = 18]

. 3 [Option ID = 19]
. 4 [Option ID = 20]
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6) The importance of culture as the main determinant of cognitive development and learning is
reflected in the theory of :
(1) Jean Piaget's Cognitive development theory
(2)
(3) Lev Vygotsky's socio-cultural theory
(4) Erik Erikson's psychosocial theory

Lawrence Kohlberg's moral development theory

e o & B Mg F AqEe, dsreas @ ST S@fgery § §95a i dgq
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_109_Q6]

1. 1 [Option ID = 21]

2. 2 [Option ID = 22]

3. 3 [Option ID = 23]

4. 4 [Option ID = 24]

7) Lev Vygotsky gave significant importance to _ __in the process of cognitive
development.
(1
(2

(3

(4

social interactions
rote memorisation

delayed imitation

T o e S

biological maturation
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(1) ATHTIRE ST
(2) FzeT THE

(3) FefaT 7=
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_109_Q7]
1 [Option ID = 25]
2 [Option ID = 26]
3 [Option ID = 27]
. 4 [Option ID = 28]

A wnN =

8) Behaving particularly and intentionally in ways that impress the parents and teachers is a
characteristicof _ stage in Lawrence Kohlberg's theory of moral reasoning.
(1) social contract orientation
(2) good boy - good girl arientation
(3) law and order orientation
)

(4) punishment - obedience orientation

AN HIEAI & Aids q4 Hgid & qqaTe, F=4 0 =70 § &9 =7 7 &6
STH-TAFL 30 T40% § AN FId g ordd JTar-Mar 3T AEams qHecds
=7 F THIET 21 ?

(1) TS AqE afatEaT
(2) =T ASHT - A=t TE0l ATHATAATH
(3) T AT = FEAT ATHIAATH
(4) TUE-ATSTHIAT ATHT AT

[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_109_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) A classroom based on constructivist approach should

(1) have high teacher-student ratio.
(2) be resourceful and print rich.
(3) promote competition among students.

(4) restrict discussions and debates among students.



TF HTFATATS AT FAT ST F AT 1A 27 AT ?
(1) = FeATIF-TqATAT ATITH AT |
(2) HHETEAITE &IT T3 HIw ATITALIT ZIAT |
(3) F=rtaert & i wiaeaat &1 ggmET 297 |
(4) F=T T AT=-FEETE 9% wiaey 9T |
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_109_Q9]
. 1 [Option ID = 33]
. 2 [Option ID = 34]

1
2
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) As per Howard Gardner’s theory of multiple intelligence, ability to understand others’ emotions,
feelings and moods is directly related to intelligence.

(1) interpersonal

3

4) linguistic

)
(2) intrapersonal
) musical

)

(
(

T MEAT F Agdia MEia ¥ e, 990 F H391, aEAE de aaEr w5
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(1) sforfrn
(2) & At
(3) =

(4) wTITE

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_109_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) Assertion (A) :

A teacher should create a print-rich environment in classroom by providing a range of reading
materials.

Reason (R) :

Language development is not influenced by the environmental factors.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



HTFT (A) :
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_109_Q11]

1. 1 [Option ID = 41]

2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Genderis a concept while sex is
(1) biclogical, social
(2) social, biological
(3) biclogical, physiclogical
(4) physiological, biclogical

ST TH Yo g St o 2|

(1) Srfars, AT
(2) AT, S
(3) wifa=, et
(4) arrfifos, S

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_109_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]



13) Fourth graders in a school prepare to perform Bihu dance for State day at their culturally
diverse school. Will this help in reducing regional prejudice ? Why ?

(i) Yes, through contact and collaboration with members of other ethnic/regional
group.

(i) Yes, through enhanced interpersonal understanding and perspective taking.

(ii) No, this will highlight state distinctions in students’ minds.

(iv) No, this will encourage in-and-out group favouritism.

(1) Only (i)

(2) Only (iv)

(3) (i) and (ii)

(4) (iii) and (iv)

TF FEhia® EEgAr ar 25 § =St Fgar % Bt ooy GEa 0w g 7
TET FOA AT TN FT 7 2 | FAT g AT TL0079 F2 H HII|E AT 2 F7
?

(i) 2f, TAL AT /ST THgl & AR o Jad A7 T 2197 |

(i) B, dAFaaf=r® au= o w6t F9= 987 7 |

(iil) LT, Tg =Tt = f=Hmr § 99 2 F |

(iv) FEY, TE q9 AT T2 Gqg F I Hfaomsear #1 agmEr 7 )

(1) F= (i)

(2) = (iv)

(3) (i) & (ii)

(4) (iii) &< (iv)

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_109_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Socio-constructivist approach of learning supports assessment on the basis of ;
(1) dominantly recall-based tests
(2) collaborative project works
(3) questions requiring one-word answers
(4) standardised tests



ATERTH T ATHIS -3 00 a0, 99 § O &0 arene o gedis= #i
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(2) AT WroTe AT g7

(3) TE 9151 F FATH AT HATAT ZIET

(4) ATTHIEA T ZTIT

[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_109_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Which of the following statement is correct in context of critical thinking ?

1) Critical thinking develops mainly through rote memorisation.

3) Critical thinking disrupts cognitive development.

(

(2) Critical thinking is meaningless in process of learning.

(

(4) Critical thinking can be promoted by giving reflection time to students.

AHTATEATER S |19 % 659 o 5 F FIA-A7 97 927 g ?

(1) FHTATAATHE A5 T q: T2F7 15 F7d F fAaad gar g |

(2) ATERTH TTHAT H AATATTATHF A1 ATET 2 |
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(4) Pt 1 e 29 999 357 9= Teq S 919 1 g7 S T9Fd7 g |

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_109_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) For successful inclusion of students belonging to disadvantaged groups, it is important to :

(1) view diversity as a barrier to learning process.
(2) teach these students in a separate section.
(3) ignore socio-cultural context of all students.

(4) develop a sense of belonging among all students.

AT Tl & S F=ntat F 9% aHEeH 2q, 98 g A g i
(1) A== & @faemy afEaT F arar g7 907 |
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(4) =T AT 9 siEE Fir araer Fs it S



[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_109_Q16]

1. 1 [Option ID = 61]

2. 2 [Option ID = 62]

3. 3 [Option ID = 63]

4. 4 [Option ID = 64]

17) Inclusion of children with special needs in a mainstream classroom will require

(1) segregation based on ability
(2) more stress on competition among students
(3) capacity building and sensitization

(4) more emphasis on completing the course over learning

T HEAETIT AT FATHRA § i st qrer A=ty % aaraee % oy w2
TE e ?

(1) TTIET ST AT |

(2) FE=nfoa & giaewet o= ot a7 |

(3) TS THHTOT & FA=E |
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_109_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Difficulty in spatial discrimination of nhumbers and shapes is directly associated with
(1) Dyscalculia

3

4) Hearing Impairment

)
(2) Attention Deficit Hyperactivity Disorder
) Sensory Impairment

)

(
(

FT ST AHGAT & FATAE A9aT § o e ¥ F &g 999 =7 7
Hataa g ?

(1) TS
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(4) =T FITEAT

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_109_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]



19) For successful inclusion of students with visual impairment, a teacher should :

(1) ask the students to solve the problem on black board.
(2) provide maps and diagrams in tactile format.

(3) give hand-written notes to students.

(4) restrict the use of laptop and mobile for study purpose.

SIRATEET & S ===t F 7 FHEOT g, TF HeTE A R FAT
TR0 ?

(1) FE=rrefT =7 9ATHTE T2 HATA g F27 Fl Fgal ATg 0 |

(2) A= ST AEl & TAAATT AT T8 F2A T AT |

(3) =T 1 geAferiaT A1ed SA7 AT |
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_109_Q19]

. 1 [Option ID = 73]

. 2 [Option ID = 74]

1
2

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) For successful inclusion of students with Attention Deficit Hyperactivity Disorder (ADHD), a
teacher should :
(1) show long-duration movies in class.
(2) avoid giving break-out time while switching from one activity to another.
(3) give multiple tasks to perform at the same time.
(4)

4) break assignments into small, manageable chunks.

FAI AT AR Feneiteaar Fae & s@ra @2t & 95 a69E99T 24 7F
FLATIA=T T 4T F7AT AT120 2

(1) ==t e et feed Rae =T
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(3) T T HHA T FT HTA T4 DI 34 AT |

(4) FTETH FT Flc-Ble TIER T Ul H Flehe a1 A1 |

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_109_Q20]

1 [Option ID = 77]

2 [Option ID = 78]

. 3 [Option ID = 79]
. 4 [Option ID = 80]

A W N -



21) A teacher should encourage her students to :

(1) understand and process meaning of content being taught.
(2) rote memorise the given information as it is.
(3) copy the content passively from black board.

(4) find solutions of problems through a fixed method only.

(1) TETE TE Ay T A ST AU A 2 |
(2) & TE AT FT T A AT T2 FT TS 99 27 |
(3) vameag # faaeg #ir AftawT a3 & 7=et ST 2 |
(4) TF F= TEH T L TEETA F T 3T 2 |
[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_109_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Which of the following pedagogical strategies have been promoted by National Education
Policy 2020 ?

(i)  Drill and Practice

(i) Rote memorisation

(i) Inguiry-based learning

(iv) Discussion-based approach
(1) (i), (ii) only

{2) (i), (iii) only

(3) (iii), (iv) only

{4) (i), (iv) only

T2 ToraT Hitd 2020 T+ § 7 Fia-H7 TorArame=ig Tiia a1 it @141 347 8

”
(i) ET [ & AT AT
(i) = FT ATE FAT

(i) @rvATr-aTETiE AR

(iv) =HT-TeTeT SumTe

(1) = (i), (ii)

(2) = (i), (ii)

(3) F=e (iii), (iv)

(4) F= (i), (iv)

[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_109_Q22]



1 [Option ID = 85]
2 [Option ID = 86]
. 3 [Option ID = 87]
. 4 [Option ID = 88]

A W N -

23) Which of the following contribute to effective and meaningful learning ?
(1) Standardised curriculum
(2) Exam-centric approach

(3) Inflexible time table
(4) Learner-centric pedagogy

e & 7 F0T TATTATAT 37 ST AT § 733 F7ar 2 2

(1) AT TEIAH

(2) TAT-F TR SaTH

(3) AFTET THA ATTOT

(4) ATERTHFAT- A5 TeraamerTe

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_109_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following promotes a culture of learning in classroom ?
(1) Fostering collaboration among students
(2) Being rigid about pedagogy
(3) Increase performance-oriented feedback

(4) Ignore self-assessment and reflection by students

T+ § & =77 AT § ATATH HgTHF HA1g e G271 FAT 8 ?

(1) B=nte & #i= Tgwaar i T21ET =547

(2) ForeATerT== & Iid ATFA/FBT THAT AT |

(3) wRew/ReaTEA-geE T FfagfRet Fr FErar 27 |

(4) =TT gy T-geaiad e S-T=ae T 7

[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_109_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]




25) Which of the following hinders the process of problem-solving ?

(1) Use of analogies
(2) Means-end analysis
(3) Response set

(4) Verbalisation

T+ § & F19-H7 THEAT-HHTETT Ti6A7 H ST g ?

(1) AT=THT FT ZEAATA
(2) FrE-Te fAgera

(3) T ==

(4) HifEERTFTT
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_109_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A) .
Students’ misconceptions about any concept should be properly attended by the teacher
instead of ignoring straight away.
Reason (R) :
Misconceptions are not always irrational rather represent 'naive’ theories constructed by
students based on their interaction with the environment.
Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

FFFIT (A) :

PR JToqa o 9T | FERAT g1 g FiaAi T AT ST U0 = 4
TERTTA 0 TS HEl T F &7 247 J1i20 |

T (R) :

Tl gHAT T Tel eidl g Ao o (AT Al ZIeT 39 arqrEeor § J7
el fawed 9 |

(1) (A) S (R) FT HET € 31T (R), (A) T HET 20T F7T 2 |

(2) (A) 3 (R) ZT &7 € 1% (R), (A) FT HET =0T T ¢ |

(3) (A) Tzt & T (R) T4 2 |

(4) (A) & (R) =TT T4 2 |



[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_109_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Which of the following statement is correct regarding emotion and cognition ?
(1) High stress inhibits learning.
(2) Interest inhibits learning.
(3) High stress promotes learning.

(4) Disinterest promotes learning.

HAWT ST HAT & g H 7F F F F19-97 F99 d8l g ?

(1) T== ¥4 F97F ATATH H F7EF g |

(2) == sfenm § =g 2 |

(3) =7 T A9TF HATERTH H AT 2 |

(4) wr=f= erfeTe / 9gra+ 2 |
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_109_Q27]
1 [Option ID = 105]
2 [Option ID = 106]

3 [Option ID = 107]
4 [Option ID = 108]

A W N =

28) Select the appropriate techniques favourable for motivating students for learning in the
classroom.
(i) Encouraging maximum participation of students in the classroom
(i) Encourage competition for marks
(i) Help students set goals based on their interest

(iv) Giving freedom to students for expressing their ideas
Choose the correct option.

(1) (i) and (iv)

() (i), (iii) and (iv)
(3) (ii), (iii) and (iv)
(4) (i), (ii) and (iii)



7t e B o e A R R e 7 o s e T 1 e ) P M s e R o
(iy =T BEEntiEt 7 AtemaT agaTREr ST @A =47 |
(iiy =i F form afaeTat F1 agmEr 397 |
(iii)y =TI F IAH B F AT 97 g Wgiva w4 § 993
FAT |
(iv) TEr=miat i1 Jue = =23 o Fif AreraEr =497 |
a2t e T |
(1) (i) & (iv)
(2) (i), (iii) == (iv)
(3) (i), (iii) & (iv)
(4) (i), (ii) == (iii)
[Qut;;tion ID = %)E;]][Question Description = CTET_P1_PART_1_CDP_SET_109_Q28]
2. 2 [Option ID = 110]

3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) Equal access to education is a matter of :
(1) priviledge
(2) exclusion
(3) right
(4) disadvantage

foreaT / FHTE ATErEra/OEE T wTfEATT g
(1) T
(2) afgeFTm
(3) sxterTe
(4) FATT
[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_109_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) To suppeort students for learning, teacher should :
(1) promote entity view of ability.
(2) ignore students’ interests.

(3) be considerate of individual differences among students.

(4) motivate students for performance-oriented goals.



=TT & GfemT %1 AT 37 % 1 UF Feamiomr wi F7 FIAT A0 2

(1) TTAT F THTE/F=T ZEHT FT TZET AT AL |

(2) =t &t ===t 71 =7 F7ar 31T |

(3) A== =t siemra fAtaeTaret & giq fE=meiter Tgar =g |
(4) TEr=noerT T T29H-37 @ T @531 & o Jied FeaT AR |

[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_109_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET

1) In a four-digit number, first digit is one-third the second digit, the third digit is sum of the first
and second digits, while the last digit is three times the second digit. Which of the following is
that number ?
(1)2682
(2) 1458
(3)1349
(4) 1236

AT T AT T W H, T 6% TAY 3% W - &, e o e o
THL @1 FT ANEHA g, FAh AT 3% THE dF F AW A1 g | FAfama 79
g W1 HA-HT g ?

(1) 2682

(2) 1458

(3) 1349

(4) 1236

[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Thenumbers 23.18, 22.2, 23.45, 22.28, 23.1 in the increasing order are

(1)22.2,22.28,23.18, 23.1, 2345
(2)23.1,23.18, 22.2, 22.28, 23 .45
(3)22.28,22.2,23.18,23.1, 2345
(4)22.2,22.28,23.1, 23.18, 23.45



I 23.18, 22.2, 2345, 22.28, 23 1 AR gU AN H F

(10222, 22 98, 23:18,23.1,23.45
(2) 23.1, 23.18, 22.2, 22 .28, 23.45
(3)22.28,22.2, 23.18, 23.1, 23.45
(4)22.2, 22.28, 23.1, 23.18, 23.45

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) What is the difference between the largest six-digit number and the smallest five-digit number ?

(1) 900000
(2) 988999
(3) 989999
(4) 899999

(1) 900000
(2) 988999
(3) 989999
(4) 899999

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) How many whole numbers are there between 42 and 62 ?

42 9T 62 % wex it qor HeAn g 2

(1) 20
(2) 21
(3)23
(4)19

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q34]
1. 1 [Option ID = 133]



2
3
4

5

. 2 [Option ID = 134]
. 3 [Option ID = 135]
. 4 [Option ID = 136]

|~

2

) :
In fractions 15"

T

4 2
g and 3 largest and smallest fractions are respectively

| w

1

o

7
(1) 10 and

-
(2) 10 and

2
(3) 15 and

4) 3
5 and 25

£ OB =
0| | m|m

f&lﬁﬁ%%%% afrrg F, A aET oY FIH Gt e w9 g
7 2
(”ﬁ dfl_{ﬁ
7 a4
(2) 5 & 5
2 = 4
@)z dxg
3 7
(4) < &ie

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q35]

1
2
3.
4

. 1 [Option ID = 137]
. 2 [Option ID = 138]
3 [Option ID = 139]
. 4 [Option ID = 140]

6) In a calendar-year; the months, whose number of days are divisible by 2 as well as 5, are

(1) April, June, September, November

(2) March, Octaober, November, December
(3) April, May, July, September

(4) January, April, August, October

UF S e-a0 |; 39 AgMl % A\, s 340 it dear i1 2 8T 5 I |
Ao e st g, = 2

(1) &%=, 5[, e, 7957

(2) 919, sFAT, A=, REET

(3) over, 7, T, FE=T

(4) ST, AU, A, AT

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q36]

A W N -

1 [Option ID = 141]
2 [Option ID = 142]
3 [Option ID = 143]
4 [Option ID = 144]



7) How many acute angles are there in the letters of the name ‘AMAN’ ?
(me
(2)10
(3)11
(4)8

‘AMAN' T8 5 qeql | fohae =7 I g ?

(1)9
(2) 10
(3) 11
(4)8

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) How many lines of symmetry are there in a regular pentagon 7
(135
(2)4
(3)6
(4)3

TF FH U | A T = ger g ?

(1)9
(2)4
(3)6
(4)3

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9) Ramesh has a rectangular piece of paper. In his idle time; he folded one corner of the paper
and observed that the paper has now 5 corners. He folded the remaining three corners. How
many cornhers does the paper have how ?

(M4
()8
(3)6
47



THIT F YT T ATTATHIT HES T THeET 2 | AT DTt T9F §, IAF IHH TH
FIAT HIST, 91 IAT @7 % FIOS F FF T1F 04 21 T0Z | IAT JT0! 0 0 HIAL
Ft ff g G | s zmFnw F A A ar T g ?

(1)4
(2)8
(3)6
@7

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) In a confectionery shop, in a 1 kg box of besan ladoos (ignoring the weight of the box), there
are 25 ladoos. Rekha wants to purchase 4 boxes of ladoos but with only 20 ladcos in one box.
The shopkeeper prepared such boxes for her. What will be the weight of these 4 boxes ?

(1)2 kg 600 g
(2)3 kg 200 g
(3)3 kg 400 g
(4)2 kg 800 g

T fi=TE #1391 7T 1 kg T F aggA (B ¥ aw A ged gu) ¥ uw R
T 25 g 7 | 7T ASgAT F 4 B=g gE=AT AT g, T 39 UF o=  FAT
20 MEE A g | THARE T 39 20 TFE ¥ s a7 7w | =7 4 o=t #1 9
et 2 ?

(1) 2 kg 600 g
(2) 3 kg 200 g
(3) 3 kg 400 g
(4) 2 kg 800 g
[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]

3. 3 [Option ID = 159]
4. 4 [Option ID = 160]



11) Fallowing table has two columns X and Y. Column X has some objects and column Y has units
of their measurement. Match the objects of column X with their units of measurement in

column'Y.

Column X

Length of expressway
Dimension of a classroom
Width of shoe lace

Length of banana

o0 w2

(1) A-b, B¢, C-a, D-d
(2) A-c, B-d, C-b, D-a
(3) A-d, B-b, C-a, Dc
(4) A-d, B-c, C-a, D-b

Column Y
mm
cm

m

o p oo

km

e At H ST w9 X @i Y 2 | &9 X § T Foqu g A =9 Y § ITht
1A #T THEAT 2 | T6F X FT Foqell 71 599 Y § = 75 IT00 7799 ¥ T4l

7 e Fifer |
=Y X
A. TFIIH-ATT Y FATE
B. T FeT-FeT Ff =HT
C. 5[d & ird #1 F1ETE
D. e it @aTs
(1) A-b, B-c, C-a, D-d
(2) A-c, B-d, C-b, D-a
(3) A-d, B-b, C-a, D-c
(4) A-d, B-c, C-a, D-b

a0 T p

=Y
mm
cm

m

km

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q41]

1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) Bina purchased a total of 50 L hair oil. She wants to fill this oil into bottles each containing 80
mL oil. How many bottles will she need to fill 7

(1) 1250
(2) 750

(3)500
(4)625



AT 7 97 9T @90 AT Ter 50 L 71 FEET | g T 9 F 80 mL Fir A«
T AT FATEAT € | 7 THT F7H % (o0 Fhast araal i SraeaTsar grir 2

(1) 1250

(2) 750

(3) 500

(4) 625

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q42]

it

3 [Option ID = 167]
4 [Option ID = 168]

A w N =

13) A teacher of class |V asked her class of 45 students about their one favourite type of
movie-genre and recorded the data in a table as follows :

Movie-genre Number of students
Cartoons 10

Family 7

Comedy 11

Horror 1
Romantic 7

Drama 9

The difference between the watchers of most liked and least liked movie-genres is

1)6
2)10
3)4

(
(
(
(4)2



=T |V &7 TF ALATTIHT 7 AT HAT 3 45 F2T0 7 3961 q909 s The-9reft
o TR FRT % AT TeT AT AR BT T avferht & =9 5§ frnre o

(R et Y Hea
e 10
rfaTfs

FiOel 11

|E!_'}I‘?T 1
i 7

STHT 9

T ATEF THRIET AT T FH THE0ET hea- et F =T aral i e §
st
(1)6
(2) 10
(3)4
“4)2
[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) For selling match boxes to retail shopkeepers, a whole-saler ordered some match boxes of
size 6 cm x 4 cm x 2 cm each. He received them in one carton of size 60 cm x 60 cm x 60 cm.
What was the number of match boxes received by him ?

(1) 900
(2) 450

(3)2250
(4) 4500

T ATF-fAwAT F GIT THEER H1 /= i Bfeamt a=7 % o, 6 cm x 4
cm x 2 cm HTT FATAT g AT HT Fef=aat #r dice 797 | 30 7 7% Fed |
gTe gE, et 417 60 cm x 60 cm x 60 cm 4T | 3H yIeA gz A=A A
fefeaat it dwzr = off 2

(1) 900

(2) 450

(3) 2250

(4) 4500



[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q44]
1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]

A W N -

15) What is the missing number in the following pattern ?
32, 44, 56,

(145
(2) 67
(3)58
(4) 68
e e T A T | ?

32,44, 56,

(1)45

(2) 67

(3) 58

(4) 68
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q45]
1 [Option ID = 177]
2 [Option ID = 178]

3 [Option ID = 179]
4 [Option ID = 180]

A wWw N -

Topic:- MATH_Q46-60_P1_CTET

1) Which of the following statements is not true for objectives of mathematics education when
compared with its aims ?
(1
(2
(3
(4

Objectives are specific and narrow.
Objectives can be evaluated.

Objectives are very broad and general.

T o e S

Objectives are direct and concerned with teaching-learning process.

o v forear F wret fir T § etortaa § T Fa-A1 U9 Jiog forar w
I29AT F Toru =57 Agi 2 ?

o= =

(1) Ige T3z v & g1 € |

(2) TE9IT FT ATHAT gl THaAT 2 |

(3) ST AAfe A= A ATHT gl ¢ |

(4) T29T AT AT Foreror-AfenTe sohe ¥ A e g 2 |
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q46]
1. 1 [Option ID = 181]

2. 2 [Option ID = 182]
3. 3 [Option ID = 183]



4. 4 [Option ID = 184]

2) Which one of the following terms means the ability to instantly recognize a small number of
objects without actually counting them ?
(1) Counting
(2) Subitization

)
(3) Conservation
)

(4) Innovation

HET | FH AEGA F (oA R G TET HEAT AT 0 AEAT F AT §
| T FHT AT 8 ?
(1) R
(2) FEETZSTIT
(3) Hem
(4) FEA=
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4

. 4 [Option ID = 188]

3) Which of the following teaching-learning material/materials can be used to show the change in
shape of a four-sided polygon ?
A. Graph paper

B. Geoboard
C. Calculator
D. Scale

(1)Only C
(2)AandD
(3)Only B

(4)A, B andD



freforfer o & Fr-A fererr-erfenmT areEfy/aEREET 7 ST = et &
E RS A 1 B B e e 7 0 e P B e e T Ll o L s e =

A. ITF I9T

B. oM

C. FTgdar

D. =

(1) =t C

(2)ATD

(3) F= B

(4)A, B &= D

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]

3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) As envisaged by the National Education Policy, 2020 the goal of Early Childhood Care and
Education (ECCE) before class | should be

(1) to develop computational skills among learners
(2

)

) to develop basic numeracy skills among |learners
3) to make children learn to write number names

)

(
(4) to make children learn counting and multiplication tables

Trearer fareT #1fE, 2020 F AT, FAT | § O, IEI9F AeamaedT S99 UH
foreaT (ECCE), 7 3297 2T ATgU
(1) faverTto=t & afvaoe Frerat =1 fasm F2T
(2) forearf3et § o7 o Frerat 1 T e
(3) FT==T FT HE=ATAT & 717 foraaT FaEmT
(4) F=A1 FT [=T 0 O TETE AT FLATHT
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q49]
.

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]




5) Which of the following is the most appropriate strategy to enhance mathematical
communication in the classrooms ?

(1) Teacher writing the correct answers on the blackboard whenever students solve problem
on their own

(2) Teacher asking students to write the missing steps in the solution to a problem

(3) Teacher encouraging students to explain their strategies to solve a problem

(4) Teacher focusing on only precise communication in a mathematics class

Fforea § § FI19-97 I F9T T T Jya #i g F oo aards

IR § ?

(1) st |7 Ta=mdl =9 J9ET F g9 Fd ¢ a9 (98 eAqTHYE 97 Jgl 397
o 2

(2) forers A= 1 FHEIT % A | ge g =T w0 o % oy wgar

€
(3) foverss =iy 1 wHET g9 FA AT ATHT I F AT F O
(4) Foreass wfore 7 T § Faer FEF HATT 97 A IATE

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]
6) Which of the following terms are undefined in mathematics ?
A. Line
B. Point
C. Natural Numbers

D. Diagonals of a square
Choose the correct option.

1) AandB
2)A,BandC
3)Only B

(
(
(
(4)C and D



fReioriae § & F9-HT aearaterdt T § qaieareyT g ?
A. TET

B. g

C. JT&d H=qT0

D. =37 % st

el faeed 1 =37 i |

(YATB

(2)A, B &= C

(3) F= B

(4)C @D
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q51]
1 [Option ID = 201]
2 [Option ID = 202]

3 [Option ID = 203]
4 [Option ID = 204]

A wWw N -

7) A customer went to a vegetable seller to buy vegetables. He bought 650 gm of spinach at the
rate of ¥ 80/kg. The vegetable seller quickly calculated the price mentally by splitting 650 as

200 + 100 + 50 and the price as 40+ 8 + 4 = 7 52.
Which of the following concept/concepts of mathematics are being tacitly used by the
vegetable seller ?
A. Addition
B. Ratio and Proportion
C. Subtraction
D. Division
Choose the correct option.
(1)Aand C
(2)A,BandD
(3)CandD
(4) Only A



T YTEH Test 1 (Awdr % T Jasil @Lrad Srd7 g | 38 I 80/fFanms & fgama &
650 UTH TTer FLI=AT g | Fesil fAawar Ardia® =9 7 650 FT 500 + 100 + 50
H ATSHE SToal | qiehiod 240+ 8 +4 =X 52 a1 2 |

Hesit fAshar 7 Aetartad & 7 B T =T / Saegmomar w1 39AnT

(YA #TC
(2)A, B &7 D
(3)C #fiT D
(4)F37 A

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) A student realises that all rectangles are parallelograms, but all parallelograms are not
rectangles. According to Van Hiele's theory of geometric thinking, the student is at which stage
of geometric thinking ?

(1) Level 1
(2) Level 0
(3)Level 3
(4) Level 2

Analysis)
Recognition)
Deduction)
Relationships)

e e e,

e FA=mft aweaT & & 9t 9raa 99T F9U 20 @, Tig T4l THET Iq9e
AT AL 2T 2 | A T F SATEd T SHAaw 6 g, a2 EEmdt st
o % e s T g 2

(1) =7or 1 (FAreerm)

(2) =707 O (FATI=T)

(3) =71 3 (FAer)

(4) =TT 2 (HEHT HT 77
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q53]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]

3. 3 [Option ID = 211]
4. 4 [Option ID = 212]



9) Forteaching mathematics at primary stage, the pedagogy should focus on
(1) Hypothesis generation and testing
(2) Didactic communication
(3) Inductive approach
(4) Drill and practice

T FaT 9T 01 F forerm & o, foremere= &t Ffesa g =2y

(1) TF=FeT= T 99 T Si= 9T
(2) TTSATEHS HIT 97

(3) ARTHATHF IUTTH 9T

(4) B T s O

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) Which of the following can be used for developing mathematical concepts like probability ?
A. Kabaddi

B. Football
C. Throwing a dice
D. Cards
Choose the correct option.

(1)A and B
(2)AandC
(3)C and D
(4)Only C



Feafofes 7 ¥ BFasT STreT aTsar sS4 I aagTenmet w77 EwEa
el F AT S FHAT E ?

.

RIGINCEAEE]

_ATeT
el e #1747 FfeT |

(1)A 4T B

(@ Ad#TC

(3)C #™ D

(4) F9e C

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

00w

11) According to National Curriculum Framework, 2005, what is the most appropriate purpose of
giving chapters like “Trip to Bhopal®, “Junk Seller”, etc. in primary class NCERT textbooks ?

(1) to integrate English language learning in mathematics classroom
(2)
(3) to make mathematics relatable to the real life of children
(4) to complete the syllabus of EVS along with mathematics

to break the monotony of student-centered classroom

TS ITE=AT ®9ET, 2005 F FHqA, TTIHE 47 #it NCERT 93aqe =i
H, ‘TS ATAT, ‘FATE T ATAT (FF FAY)’, TATE T T3 I FT GAUAH
YT 29T FAT E ?

(1) IO AT H AUST ATOT ATERTH FT HAT G HeAT

(2) ST 3T FTAT *0 ATETdT 0 AT

(3) F=AT1 * FTeata= (2fF=) Sfraa & 7T Fr FArear

(4) IO 3 ATT-ATT aATE<0r (AT (EVS) F TEHH Al T HAT

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]




12) Which among the following is/are closed-ended questions ?
A. List all even prime numbers.

B. Write prime numbers between 20 and 30.

C. If sum of the two numbers is 14, what are the two humbers ?
Choose the correct option.

(1)Aand B
(2)AandC
(3)Band C
(4) Only C
feaferfee § O se-a74 95 [0 ameyare 999 272 2
A. T O TS HEATAT T THT AT |
B. 20 &~ 30 F == &t @dqrsg #eAro forEr |
C. Tf% =T H=ATA FT AWTA 14 g, 79 g 31 H=ATT H-HT ZE(T 2
Al fAsed 1 =9+ oy |
(HA#TB
(2)AdTC
(3)B T C
(4)F= C
[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]

3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) In a mathematics test, ‘what is the formula of simple interest ?' is an example of
based question.

(1) Understanding
(2) Skill

(3) Knowledge
(4) Application

T F ZF |, H@TETE S RO R § 7 T AT ToF T
I 2 |

(1) ==

(2) FrareT

(3) =T

(4) ST

[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q58]
1. 1 [Option ID = 229]



2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) The CBSE introduced “"Continuous and Comprehensive Evaluation” in response to National
Curriculum Framework (2005) in the year
(1) 2005
(2) 2010
(3) 2021
(4) 2016
TTCET OT5=AT FI4@T (2005) F W=7 § CBSE ¥ “°Had UH 97 qimT &l
= 3 7 yeartag BT 2
(1) 2005
(2) 2010
(3) 2021
(4) 2016
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q59]
1 [Option ID = 233]
2 [Option ID = 234]

3 [Option ID = 235]
4 [Option ID = 236]

A W N -

15) Delma, a class-ll student has solved a problem on subtraction in the following way :

64
-47

23

Which among the following is most appropriate regarding Delma’s subtraction process ?

1) Delma commited a careless mistake while subtracting
2) Delma knows how to subtract
3) Delma is subtracting the bigger digit from the smaller digit

e e,

4) Delma should be given similar type of questions to practice



STHT, FAT-Il =T T Gr=AT A, T2 7 T97 Heafertaa v T gor B

64
—47

23

SAHT HT FaTd AT AT F Al § etatad § F F6 a9ias S0E g ?

(1) STHT F HETd g U Ta<atg Fic il

(2) TAHT ATAAT g & T2 F9 Sqar e

(3) EHT IE &F H | TIE F FT 7Tl &

(4) THT =T HHIT WL 5 AT T97 g el =6 (o0 =0 S A1y

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_109_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) Just as directions left-right are relative, there is no up or down on the Earth and it is just
relative. The Earth is round and we, the people of India actually stand up side down in relation
to the people of
(1) Algeria

(2) Argentina
(3) Alaska (USA)
(4) Libya

(R E R Rt o -l ) e e 7 et M 5 o e - T
T ATUET AT 8 | TEAT T g, a75aq9 § gH 918 & [ 719 (=30 707 &0 390 %

(1) srosfriaT

(2) ST

(3) sTeTTE=RT (Z.UH.T)
(4) whfaaT

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_109_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2) The striking example where animals’ erratic behaviour gave signals to tribal people about the
incoming disaster was observed during
(1) Indian Ocean Tsunami, 2004
(2) Gujarat Earthquake, 2001
(3) Kashmir Flood, 2014
(4) Kedarnath Landslide, 2013

AT F AMATHT AR T UF AGFATAF A2 F FF ARATHAT FHl A
ATAT ATTET & AT H Td (20 &, TH 31479 @7 74T 97

(1) 22 HgTEmTe i qATHT, 2004

(2) T FT g7, 2001
(3) Feiv #F 717, 2014

(4) F=TTATT T gg«, 2013

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_109_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) What is a ‘heatisland’ ?

(1) An urban area in the form of island that depends on solar energy.
(2) An island that has many commercial activities.
(3) An urban or metropolitan area that is warmer than its surrounding rural areas.

(4) A rural area that has much higher temperature compared to its nearby areas.

“FEHT T T g ?

(1) 219 % =7 F U gl & S AT Sl 9% [Ee g |

(2) 7 &9 T U7 & SATEATHE T A 931 gar g |

(3) A 9T AT AT S ST AT ATHITH & ATHT &1 F AT TH 2 |
(4) =g TrToT S TRt ST AT & S 3= arae g |

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_109_Q63]

1 [Option ID = 249]

2 [Option ID = 250]

3 [Option ID = 251]
4 [Option ID = 252]

A w N =

4) Which of the following statement depicts the organisms in ascending order of size ?
(1) Viirus — Bacteria — Fungi — Algae
(2) Bacteria — Virus — Fungi — Algae
(3) Algae — Fungi — Bacteria — Virus
(4) Fungi — Algae — Bacteria — Virus



fAeAforiaa 5 | F19-97 FI7T S FT T AT F ATATT 9T BT T A H
TET 2 2

(1) FFET — ST — A — AT

(2) sfrar — AT — A+ — darer

(3) 9ATT — FAqF — SATI —

(4) FaF — AT — S =70 — FAuTy
[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_109_Q64]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]

3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) Which one of the following is an insectivorous plant ?

(1) Cuscuta plant
(2) Lichen

(3) Pitcher plant
(4) Cactus

fetertee 7 F9-a7 76 Hegefr 9T g ?

(1) ST oTET
(2) 9aTF (ATZH)
(3) far=w e

(4) FF=w

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_109_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) In the chapter ‘Hu tu tu, Hu tu tu’ Karnam Malleshwari is

(1) a boxer

(2) a gymnast

(3) a weight-lifter
(4) a hockey player

TS AT, TAT H FOH Hea s A g
(1) T T
(2) T =TT (or8ee)

(3) TF ATIIATAE
(4) T gt et



[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_109_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
4 [Option ID = 264]

A W N -

7) You are at the railway station. In order to reach the examination centre you first go 50 m due
North, then 100 m due East, then 300 m due North and finally 160 m due West. With respect to
the examination centre, the direction of the railway station is

(1) North-East

(2) North-West
(3) South-East
(4) South-West

MO T T TEZ | T TIET Firg TE Tg=d 6 (o707 39 qe9 9ge 3 I
g 50 m Fad g, 5T 3% 74 | 100 m Fo0d 2, 7 1% 397 § 300 m =4 2
I 7= § 36 Tf9=T § 160 m FohT TEET vy Ug=d 3 | TET Fes o qT0e
o T AT R g

(1) 393

(2) TTE-aT9=EH
(3) sfermr-a

(4) FtErr-afe=g

[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_109_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]
8) Identify all the correct/true facts about the tiger.
A. Tiger's whiskers help them to move in dark and find its prey.
B. Ears of tigers can move in different directions.
C. Tiger's roar can be heard up to 5 kilometres away.

D. Tiger marks their own area, which covers several kilometres, with urine.

(1)A,BandC
(2)Aand B
(3)A,BandD
(4)Aand C



AT AT H AHT qEL AT A TEAAT |

A. =TT T 4T Ig dGT T A0 FA TAT F906TT 61 g2 H 795 F747 3 |

B. ATHT F FTH dAeiT-31aT 29T H BT 7567 £ |

C. =T =it Tgre 5 Haries 2 9% qA12 341 g |

D. =TS T & FT, ST FH1 HeATHEE T I Za71 g, AT T §
i FTar g |

(1)A,B#TC

(2)A#TB

(3)A, B @® D

(@A C

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_109_Q68]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

9) Golconda fort was built by
(1) Nizams of Hyderabad
(2) Mughals
(3) Qutubshahi Sultans
(4) Rulers of Delhi Sultanate

et et 1 R e war o
(1) g3Tem= F Aot g
(2) FIrert BT
(3) FAFATET ATl aTaT
(4) TReett Toaed % arEat g
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_109_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Which of the following animals can see the objects in black and white colour ?

(1) Bats, Owls, Hedgehogs
(2) Rats, Snakes, Dogs

(3) Cats, Cows, Owls

(4) Bats, Snakes, Lions



feaforfaa & & Fi9-8 79 Fegal T 999-937TH T H 39 974 ¢ ?

(1) F9TT=E, Soe, HiarEar
(2) =@, =, T
(3) T, T, Fo

(4) FHITEE, TIT, g7
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_109_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]
11) Example of an organism that takes nutrition from dead and decaying matter is known as
(1) Grass
(2) Dog
(3) Mushrooms
(4) Cuscuta or Amarbel

T TF HE-IT T2 & TrO07 YT F7d AT S0 F7 T2 5
(1) =T

(2) F=m

(3) it

(4) FHF=T AT ARTAA

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_109_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Kharif crops are sown at the beginning of the rainy season and are also known as monsoon
crops. Which of the following set is an example of kharif crops ?

(1) Rice, Maize, Sorghum, Bajra

(2) Gram, Wheat, Pea, Mustard

(3) Wheat, Pea, Mustard, Cotton

(4) Gram, Rice, Cotton, Mustard



G T FEAT AT 5 AT 5 AT H TET 0T g T Trg, AEEA (TTATT)
1 Foer dF gt Srar g | etaiEg 8§ $9-97 99g F90F S F9d 5 S580

29

(1) &, HFFT, HITTH, TS0
(2) =, g, HeT, "AEAl

(3) g, HeT, |AET, FATH

(4) =T, &, FATH, FLHT

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_109_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which one of the following is not a Kharif crop ?
(1) Rice
(2) Maize
(3) Soyabean
(4) Wheat

feAfeTiad § & F9-A7 UF 0% TG 7l ¢ ?
(1) &=

(2) 5

(3) ATATATH

(4) g
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_109_Q73]
. 1 [Option ID = 289]

. 2 [Option ID = 290]

1
2
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

4 A boy boarded a train on 7" September, 2022 at Ahmedabad for Ernakulam. The train
departed at 21:43 hours from Ahmedabad and reaches Ernakulam at 9:15 hours on 9"
September, 2022. If the distance covered by the train during this time interval is 2055

kilometres, the average speed of the train is
(1)61-0 km/h
(2) 59-8 km/h
(3)57-8 km/h
(4) 56:2 km/h



AT TEHT AGHITATE T AT W 5 7 e, 2022 7 5§ aw
T | 3 AT ¥ 21:45 F/ Tt & 9 Femw, 2022 #r 915 7
AT TET | 7AFE T A AT § 5 2055 Frereties T =, A1 5
daT =TT 8

(1) 61-0 km/h
(2) 59-8 km/h
(3) 57-8 km/h
(4) 56-2 km/h

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_109_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Which of the following is the correct sleeping time of animals ?

(1) Cat - 10 hours

(2) Python - 12 hours
(3) Cow - 4 hours

(4) Giraffe - 6 hours

Aot & & F19-97 790 F H19 FT JE T9T g ?

(1) faeedt - 10 ==
(2) AT - 12 %
(3) 7T - 4 HE

(4) T - 6 %2

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_109_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET



1) In EVS class lll chapter "Our friend - Animals” story “The Queen’s Garden”, the gardener
stopped birds from entering the garden & so the insects increased and the mangoes were less.
Chennamma on reading the story said that her grandma feeds grains to birds in the temple, so
in the story it has been given incorrectly that birds eat insects.

Chennamma is displaying which of the following ?
A. Linking classroom learning to outside the school

B. Analysis, evaluation & drawing inferences about concerns related to
environment

C. Appreciation of interrelationships of animals and their environment

D. Natural curiosity in relation to natural environment

1)A and B
2)Aand C
3)Aand D
4)BandC

(
(
(
(
AT AETAT FAT T1T 4 T3 “GATE AT — g ¥ Fgrel Tl &1 anr
T HTEAT 7 TR T G0 F A F IO =, e 9% T AT AR g | =FTET
TH FHEAT 1 UgHT Fgdl g (& Iuehl A1l HiE3T & ofdqat & gars @edr 2,
TATT T § g Tod =T ger 2 O wef fiw ae £ 2
vt Frfafaa & T EiE F7 =g 2

A, FETHET ATERT AT e % 9T | Srear

B. WA ¥ wEfead @EREL 6 AT H {9, qeAtwhd A7

ey AT
C. el AT I TATFLI & Ao =awel| il TIgAT
D. WTHfa® THE0 & q12 § Hgs foamET

()A#FTB

(2)AFTC

(3)AFTD

(4)B#C
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_109_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]




2) A thematic approach has been used in EVS for class 11l to V instead of topic-based approach
due to which of the following nature of EVS ?

(1) Intradisciplinary
(2) Disciplinary

(3) Interdisciplinary
(4) Cross-disciplinary

FAT Il ¥ V F 7 99@700 Feg9aq9 F THI0 AT A F A U
(e E M e o e W o e 2 e 2 O e e e e 1 e e S R
LA T TG % HEOT AT =T g 2

(1) FTTT-ATATHATHT

(2) ATATHATHE

(3) HTT-AAATHATHT

(4) - AATHATHT
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_109_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Summative assessment is

(1) continuous monitoring of students’ progress.
(2) to provide feedback to medify ongoing teaching-learning.
(3) considered as a landmark for passing or failing students.

(4) to identify learning gaps of students and fixing them.

(1) A=t i gt =1 FaT agErAa g |

(2) Forermr-arfanTy § afvaas w70 g aiaafe gear we & o grar g |

(3) FE=T &1 I AT T FEA 0 AR AT AET e |

(4) et 3 wfemr & Fft A mg= w2 F A 9 A1 w F o g
e

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_109_Q78]

1 [Option ID = 309]

2 [Option ID = 310]

3 [Option ID = 311]
. 4 [Option ID = 312]

A WwWN =



4) In the chapter "A Snake Charmer’s Story” of class V, EVS, the snake charmers (saperas)
made medicines from plants collected from forests. They also play a ‘been’ made from dried
gourd (lauki). Snakes eat rats in the field otherwise rats would eat crops.

All these facts indicate which of the following ?
A. Interrelationship of plants, humans & animals
B. Interdependence of plants, humans & animals
C. Mutual dependence of plants, humans & animals
D. Integrated nature of EVS

1A BandC
2)A,CandD
3)Only B and D
4)Only Aand D

(
(
(
(
AT AT HEAT V A FEIET ALl A IS H WYL ST F TS AT Tl
FA ST ITHA TATSAT a9TT ¢ | T TEN AT F FATE S0 ATAT “Se” T 2 |
AT FAT H F@1 A1 @19 g, A5l a1 F FHAT 7 G |
DA s 0 I B e M e e e s B s =

A. TTET, AT ST STHATT & ATEEe

B. UTET, AT ST STAALT Al A-ATATTATAT

C. UTET, AT 3T FFa% i TeFaT H9war
D. TATEI FEITT FT THEA g%
(1)A,B&EC
(2)A, C D
(3)FIT B #FT D
(4) 7T A 37 D
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_109_Q79]
1 [Option ID = 313]
2 [Option ID = 314]

3 [Option ID = 315]
4 [Option ID = 316]

AW N =

5) In the chapter,"From tasting to digesting” of EVS class V, it has been mentioned, “when
Jhumpa tasted some of the things, she said “Sssee, Sssee, Sssee”. "What do you think she
may have eaten 7" The author is trying to relate this with which of the following ?

1) Experience of child

(
(2) Sensory exploration
(3) Imagination

(

4) Various tastes of eatables



FAT TT=AT % TAEL FTAIAT 915, “Fa@T F 794 9% §, Tg TaET 740 ¢ &,
‘TG ATS TAT & A3 AT ATAT E-HT-AT | H=ET, ST T G gn 27
7o foeaforfes & & fe 98T F20 FT I FTTEr e ?
(1) g F #gaa
(2) FET e
(3) T
(4) Err-g=ETat & At =
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_109_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) Activity approach in EVS refers to
A. memorizing abstract concepts
B. involving all the three domains of student learning
C. understanding concepts through sensorimotor experiences
D. usingtheme-based approach to teaching

(1)Aand B
(2)Band C
(3)Band D
(4)CandD

I AeAA H e ugfa #etd §

A. A TAAT AT FSET FAA T

B. T & srfaers & wfy =1 ArEt i o w4 F
C. HAZHTHF ATHAT T T4 FT HAT H

D. Torrr % forg FEruer-aeg o< ety ggia 9 F
(1)A 47 B

(2)B#C

(3)B#TD

(4)C #7 D

[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_109_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]



7) Usha who washes utensils at Manjari's house did not come on Saturday. Grandfather said,
“This is the third time in this month that she has taken leave without informing. We will have to
deduct the amount paid to her for this leave.” Manjari felt bad about this. She felt sorry for the
girl, who was working to support her family and did not even go to school. Manjari requests her
grandfather to not do so. Which of the following curricular expectations is exhibited by Manjari

?

(1) An awareness about immediate surroundings

(3) Raise an issue related to justice & respect for human dignity

)
(2) Develop sensitivity for human resources in the immediate environment
)
(4) Developing skill of observation through interaction with immediate surroundings

HEET % AT, AT FIo ATAT SHUT AT FT 721 e | RIS F Fgl, ‘T 20
qEM | @l AT § 5 IA a9 aaT0 ger @f § | g6 39 gal % o0 39 130
ST ATer 960 § F T6T FEAT TS0 | HOET H0 ST % o 377 &9 287 47 | 98
AT OFATE T AT 39 % [0 19 7 T 47 & w=per o /g srar o | /590
7 IMETST T FT & T TAT A7 FL | "9 g Wt d § F - el
FTAT T FT ST IET 8 ?

(1) FTETER TATE F T F SETESAr
(2) TS G0 H HIT GO F Tid Saaaeiiadr 1 =5
(3) =TT AT AITATH AT F TEATH T FaTad q21 35140
(4) TTEr=hT IIA9T & 919 Fq -7 2T A9 rsa Fr9e 1 =Eme
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_109_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Integrated approach of EVS proposes themes due to which of the following factors ?

(1) For a connected & interrelated understanding

(2) For development of child's personality

(3) Moving beyond traditional boundaries of discipline
(4) Triggering thinking skills of child

AT FETAT FT WIS grea FwEwd gune w5 Aeafotag § F G
FTCH o L0 TEIA HIar g ?

(1) 7% ST g2 AT T9E0T HAT8d TH % (0

(2) TeT= * =TT F T = o

(3) Tt =t g Hars 7 97 57 % o

(4) arers % T=aT wra=t #9779 % T




[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_109_Q83]
1 [Option ID = 329]
2 [Option ID = 330]
3 [Option ID = 331]
4 [Option ID = 332]

A W N -

9) Importance of co-curricular activities in learning EVS at primary level can be established by
(1) organising athletic competitions
(2) promoting public speaking activities
(3) making entertaining films

(4) preparing the students for various professions

TTATHF F7 9T THE0 AEAIA & AR F Ag-TT50=41 T8t % "g=a T
(1) TT-F7 T TAATRIATSAT T ATITSAT Fh

(2) ATASF ATA-ATA/ATTI AT TATATAAT T TTHT T Fh

(3) FATESTF Tohed T

(4) FEntd=t = BfEy = & =aat & T 9w w2

[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_109_Q84]

o

3 [Option ID = 335]
4 [Option ID = 336]

A wnN =

10) Anand’'s mother puts tulsi |leaf in the prasad plate offered to God in her temple at his house. He
shared this with his teacher in class. Teacher thinks about using this experience to develop a
holistic (integrated scientific and social) perspective of studying plants.

Which of the following learning experience will be effective to achieve this objective ?

(1) Tell students about the medicinal properties of tulsi leaf and festivals with which tulsi plant
is related, like ‘tulsi vivah'

(2) Ask students to work in group projects exploring various plant leaves and search for its
social & scientific significance

(3) Exhibit a video presentation showing leaves and its social & scientific significance

(4) Take the students for a field trip to a garden & discuss the uses of various leaves



ATAwE T WEAT IHF I F HiaT H AN F ATAS Tie § THTE T TAr T91T
TEEE AR 2 | A T HLAT H ALATTH T TA0T1 ¢ | AL T ATHA T TART
UTEN F FETAT F FHIY (TR AN UA ArHToR) SO @R w5
forT J=q € |

TH T297 6T G 2 Feaferiad § | F19-a7 Jie0s A9 THE g ?

(1) =¥ =t Tt o= & AT YO TAT IT Al & a1 F qqT ey
TAHT AT HETET g, o qadt Ha

(2) =T & gag arATSATa § w1 7 AT ot i 9wt w1 e
T IAH ATHATSTS U ISATAH Hgwd BT Tl Tg,

(3)Td TAT I ATHAISTE UA AT Hged ol Teqd Fed gd AeAl

(4) FE=ntoaT 7 3= § &= 990 F7d o 90 d =i g gl F ST 9%

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_109_Q85]

. 1 [Option ID = 337]

. 2 [Option ID = 338]

1
2
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Taranjeet, a student of class lll asked the teacher, “why does daddy have a beard &

moustache while mother does not have beard & moustache. Why does mother wear bindi on
the forehead & bangles in her hand while daddy does not do so ?" She is asking about
secondary sexual characteristics & gender.

What will be the correct approach to answer this question ?

(1) This is not the correct age to discuss such complex subjects

(2) Assigning the students a project on “how males & females of different animals look
different” and “different roles of male & female gender at home"

(3) Presenting a video presentation on “secondary sexual characteristics & gender roles”

(4) Explain to students that gender is a social construct while sex is a biological concept



FAT ATt Fit AT Teasig aa forrs & et 8, S50 ¥ T S T g
Stats gET %A@ | 7edt 97 97 @96 #=10 ar|r 2, g0 § g2 F7 T89dl g
THT STATE I T T TL0H1 FT 0T ?

(1) T2 SH =9 972 F Fied A9d1 97 I79 F74 il 751 ¢ |
(2) F=niET #7, B IEa F A T R ao W fEg T T W A
T HTET S H1 AT g o7 afegreer 3 |
(3) “TEeTr= AR TN UF ST GRHTAT” TT FISAT TH=A 10207 L |
(4) =TT 1 gaaATn % ST uE "rEres WAt g s6s © S
FALTIT 2 |
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_109_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Trips or excursions can be used to teach the theme *food’ to primary children because

(1)it encourages them to observe different ways of growing food
(2) they can have a break from the monotonous routine and enjoy themselves
(3) they can understand the role of balanced diet

(4) they should note down questions and ask their parents after getting back home

TTATHE ¥ & =41 &l ‘G99 &0 9T 989 & ©7 a7 91 9907 F:7T ITI0
T ST JFAT 2 A

(1) T I8 GIEI-9ETAT F1 9 A @ATa BT #1 saamd #ed 5 oo
(2) 372 AT THIH BA=AT F gE A 9T § F9T T AR 7O 55T 2
(3) T Hgfera &gt T GFHFT FT qAAT TFHA 2
(4) T2 TEAT 1 {TE T A1 AR TAT FL ATTH Tleed 6 =ATZ F0 ATAT-10a71 #
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_109_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]



13) Gulfam was participating in a classroom in salad making activity. While cutting onions, he felt
tears coming from his eyes. He told his teacher, “Now | can cry in the play during the scene in
which [ lose my watch. | will cut onion backstage just before my scene.”

Which of the following objectives of EVS is related with this ?

(1) To engage child in exploratory & hands-on activity

3

)
(2) To acquire psychomotor skills through observation & inference
(3) To gain variety of experiences & basic understanding

(4) To develop sensitivity for human resources in immediate environment

TARH FAT § Tz | afafater § 9w @ @ 97 | e #ed 597 390
qead g T SuET afe 7 | 9T o T2 2 | I A0 {erE |7 Er, qw H
ATE 6 99 9T H T T g, e 7 7S 9 1% g | 97 397 ° UEd w2 5
ey | TS TS I |

TIATI AL & Aeaforiad Seeal § § FIH-A7 T "a8d g ?

(1) =TeT= T GISiT UH ZATAE O T8 J HeAs HeAm

(2) FFATEA U ST ST AT RTATH AT HT AT

(3) FATH= =17 F Aq9a AT HATE T HF T HLAT

(4) AT O AT H HIEE GETEAT & 9 Fagasfterar FEEtaT wer

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_109_Q88]
1 [Option ID = 349]
2 [Option ID = 350]
3 [Option ID = 351]
4 [Option ID = 352]

A W N -

14) Geetika asked her father, “Why do you call “grandmother” “mother” while the neighbouring
aunty calls her “aunty”. The Rickshwala calls her “mausi” while the sabjiwala calls her “Tai"." Is
she not the same person ?

Geetika's father, who is a teacher thinks this as a suitable question to introduce the subtheme
“relationship”. Which of the following objectives of teaching EVS at the primary stage is
concerned with this ?

(1) To comprehend relationship between social & cultural environment

)
(2) To develop an understanding drawn from lived experience & social aspect of life
3) To make the child curious
)

(
(4) To nurture the curiosity of child in relation to natural environment including people



et 7 I TTIT T, “ATT IR0 FH T FET of, TaiE TEr A AT
e Al Fedt ¢ | FEeETer I Wi Fgar g, S aesarar I qe
At ¢ | Feaforfaa § & srafees =77 9% 79 a0 Aeraw 98 F BA-ar 3297
THY HEATAT g ?

(1) ATHTST UA AIega® TAE0 6 319 Gael fi q9=
(2) STT=T AHAT AT ST = FATATISE T H FAS T THA FT (=0
CEIEEEINEEIGETIGH

(4) ITETh TATET TOrEH AR AT 2 % e 5 arern i ST A qra

HeAT

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_109_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) Reyhan was sneezing constantly. Amma prepared "kadha” for him using turmeric,
honey,ajwain, lemon, ginger, black pepper & tulsi leaves. Next day he was feeling healthy and
he went to school. He asked amma to teach him to prepare kadha.

Which of the following objectives are involved in this activity ?

Understanding

Creating

Applying

Remembering

oo o>

1)A, B and C
2)B, CandD
3)C,DandA
)

(
(
(
(4)D, A and B
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A. FEHFAT

B. T FwT

C. 9N FHTAT

D. A8 HTAT

(1)A, B &= C
(2)B,Cc &= D
(3)C, D #T A
(4)D, A&7 B

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_109_Q90]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Most of the people are blind

1) from birth

(
(2) due to some disease of the eyes
(3) after accidents

(

4) after earthquakes

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q91]

1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3.

4. 4 [Option ID = 364]

3 [Option ID = 363]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Trachoma is an eye disease which

1) spreads by touch

(

(2) cannot be cured

(3) is caused in those who suffer from glaucoma
(

4) is caused by a virus

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q92]

1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3.

4. 4 [Option ID = 368]

3 [Option ID = 367]



3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Which of the following statements is frue ?

1) Cataract makes the eye lens very hard.

(
(2) Cloudiness of the lens can be washed with medicines.
(3) Trachoma is more dangerous than glaucoma.

(

4) Blindness has been correctly defined.

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q93]

1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3.

4. 4 [Option ID = 372]

3 [Option ID = 371]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Congenital blindness is caused

1) due to deficiency of vitamins

(

(2) due to the neglect of eye care
(3) due to general body diseases
(

4) at birth

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q94]

1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3.

4. 4 [Option ID = 376]

3 [Option ID = 375]



5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Medicines capable of destroying the bacteria which cause a disease are called

1) Panacea

3) Antibiotics

(
(2) Vitamins
(
(4) Antifungal

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q95]

1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3.

4. 4 [Option ID = 380]

3 [Option ID = 379]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

A person having cataract

1) can see things clearly

(
(2) cannot distinguish between day and night
(3) loses vision altogether

(

4) can be cured through surgery

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q96]

1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3.

4. 4 [Option ID = 384]

3 [Option ID = 383]



7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Now there are cases of trachoma.

)n

(1
(2) medicines to completely cure
(3) controlled numbers of

(

4) only highly developed countries have

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q97]

1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3.

4. 4 [Option ID = 388]

3 [Option ID = 387]



8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

Cataracts can be removed by surgery.

(Change voice)

(1) One could remove cataracts with surgery.

(2) Surgery can remove cataracts.

(3) The surgeons have removed cataracts with surgery.

(4) Removal of cataracts is possible through surgery.

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q98]

1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3.

4. 4 [Option ID = 392]

3 [Option ID = 391]



9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct/most appropriate options.

Did you know that there are at least fourteen million blind people in the world? There are many
degrees of blindness, so it is hard to define blindness. Some people cannot even see light.
Others can only tell light from dark. Still others have a small amount of vision.

Of all the blind people in the world, only a small percentage were born blind. Blindness at birth
is called congenital blindness. The causes of it are not all known.

Blindness that occurs after birth is caused mainly by diseases of the eyes. A general disease of
the body, such as diabetes or meningitis, rather than a disease of the eye itself may also cause
blindness. Accidents and explosions are two other causes of blindness.

In countries where people live longer because of good medical care and a high standard of
living, old age often brings on certain eye conditions. Two of these eye conditions are cataract
and glaucoma. Cataract is one of the leading causes of blindness.

A cataract is a clouding of the lens of the eye. The lens, the transparent part of the eye through
which light rays pass, become cloudy, and only strong light rays can pass through it. There is
conseduently a loss of vision. Cataracts can be removed by surgery.

With glaucoma, there is a hardening of the eyeball and great pressure inside the eye. Today,
there are medicines to control glaucoma if it is discovered in time.

The greatest single cause of loss of sight is trachoma. It is a contagious disease caused by a
bacteria.

It affects the inner lining of the eyelids. Also, blood vessels grow over the cornea, This can
destroy the vision.

Antibiotics can now control trachoma, but it is still common in some parts of Europe, Africa and
Asia.

There is consequently a loss of vision.
The underlined word means the same as
(1) completely

(2) thus

(3) comfortably

(4) luckily

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q99]

1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3.

4. 4 [Option ID = 396]

3 [Option ID = 395]

Topic:- ENG_Q100-105_L1_P1_CTET



1) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

Because | had a teacher | loved to learn,

| discovered | could do much more than | thought | could.

| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.

| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.

When someone was happy to see me.

| knew | could always ask for help.

Because | had a teacher, | felt | had a friend on my side.

| saw that some of the most important things

were said without words.

Because | had a teacher, | had whole new worlds to explore.

| discovered that what | imagined, could become real.

| felt | could do anything.

Because | had a teacher, | learnt to believe in me.

The poem seems to have been written from the viewpoint of

(1) a fellow teacher
(2) a school principal
(3) a student who revered his/her teacher

(4) a parent of a student

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q100]

A wN =

1 [Option ID = 397]
2 [Option ID = 398]
3 [Option ID = 399]
4 [Option ID = 400]



2) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

Because | had a teacher | loved to learn,

| discovered | could do much more than | thought | could.

| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.

| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.

When someone was happy to see me.

| knew | could always ask for help.

Because | had a teacher, | felt | had a friend on my side.

| saw that some of the most important things

were said without words.

Because | had a teacher, | had whole new worlds to explore.

| discovered that what | imagined, could become real.

| felt | could do anything.

Because | had a teacher, | learnt to believe in me.

The speaker remembers his teacher as the teacher

(1) was of immense help to the students.
(2) was very hard-working.
(3) taught moral values.

(4) was very affectionate.

[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q101]

A w N =

1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]



3) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

Because | had a teacher | loved to learn,

| discovered | could do much more than | thought | could.

| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.

| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.

When someone was happy to see me.

| knew | could always ask for help.

Because | had a teacher, | felt | had a friend on my side.

| saw that some of the most important things

were said without words.

Because | had a teacher, | had whole new worlds to explore.

| discovered that what | imagined, could become real.

| felt | could do anything.

Because | had a teacher, | learnt to believe in me.

The teacher taught some of the most difficult things

(1) without spelling them out
(2) through love and understanding
(3) by revising them

(4) in a playful manner

[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q102]

A wN =

1 [Option ID = 405]
2 [Option ID = 406]
3 [Option ID = 407]
4 [Option ID = 408]



4) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

Because | had a teacher | loved to learn,

| discovered | could do much more than | thought | could.

| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.

| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.

When someone was happy to see me.

| knew | could always ask for help.

Because | had a teacher, | felt | had a friend on my side.

| saw that some of the most important things

were said without words.

Because | had a teacher, | had whole new worlds to explore.

| discovered that what | imagined, could become real.

| felt | could do anything.

Because | had a teacher, | learnt to believe in me.

The teacher was to her students.

(1) kind

(2) friendly
(3) harsh

(4) indifferent

[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q103]

A wN =

1 [Option ID = 409]
2 [Option ID = 410]
3 [Option ID = 411]
4 [Option ID = 412]



5) Directions : Read the extract given below and answer the questions that follow by selecting the

correct/most appropriate options.

Because | had a teacher | loved to learn,

| discovered | could do much more than | thought | could.

| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.

| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.

When someone was happy to see me.

| knew | could always ask for help.

Because | had a teacher, | felt | had a friend on my side.

| saw that some of the most important things

were said without words.

Because | had a teacher, | had whole new worlds to explore.

| discovered that what | imagined, could become real.

| felt | could do anything.

Because | had a teacher, | learnt to believe in me.

The teacher instilled in her students.

(1) self-confidence
(2) discipline
(3) respect for elders

(4) love for their motherland

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q104]

A wN =

1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
4 [Option ID = 416]



6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/most appropriate options.
Because | had a teacher | loved to learn,
| discovered | could do much more than | thought | could.
| realised it was alright when some things were harder than others.
Because | had a teacher, | found that challenges could be fun.
| realised that some of the hardest things | did made me feel the proudest.
Because | had a teacher, | knew how good it felt.
When someone was happy to see me.
| knew | could always ask for help.
Because | had a teacher, | felt | had a friend on my side.
| saw that some of the most important things
were said without words.
Because | had a teacher, | had whole new worlds to explore.
| discovered that what | imagined, could become real.
| felt | could do anything.
Because | had a teacher, | learnt to believe in me.

The figure of speech used in the sentence :

‘Because | had a teacher, | felt | had a friend on my side.’
(1) Simile

(2) Metaphor
(3) Personification

(4) Parallelism

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q105]
. 1 [Option ID = 417]

. 2 [Option ID = 418]

1
2
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

Topic:- ENG_Q106-120_L1_P1_CTET

1) Vygotsky believed that language is

1) a critical tool

(

(2) a cultural tool

(3) a meaningless tool
(

4)a fun tool

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q106]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]



2) Language does not exist as isolated sentences or words. So a teacher should present it in a
meaningful

(1) discourse
(2) schema

(3) manuscript
(4) device

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) A child of two and half years observes his mother reading a book; he also turns the pages and
holds the book upside down and ftries to read the printed language. The child is an emergent

1) reader

(

(2) writer
(3) speaker
(

4) observer

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) Phonological awareness is the knowledge of

(1) Language
(2) Music

(3) Words

(4) Sounds

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) A child understands that the print on a page represents words that have meaning and are
related to spoken language. He has developed

(1) Print awareness

(2) Page awareness

(3) Meaning awareness
(4) Phonemic awareness

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]



6) When readers are expected to move beyond the direct or inferred meaning of texts, itis based
on

(1) retrieval and understanding of the text
(2) evaluation and reflection

(3) paraphrasing and summarising

(4) scanning and skimming

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

7) Acritical period in language learning is the age

1) when a child starts academic language.

(
(2) a child is most receptive to learn language.
(3) when a child stops learning language.

(

4) when a child starts to learn language.

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) A teacher believes that the use of invented spelling will slow down children’s ability to learn
how to spell.

(1) You agree with the teacher.

(2) You disagree with the teacher.

(3) Invented spelling has nothing to do with language learning.

(4) As per constructivist approach children can invent new spellings.

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

9) The medium of instruction for students at primary level shouid be

(1) the mother tongue
(2) Hindi

(3) English

(4) the State language

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) As per National Education Policy (NEP 2020) efforts must be made to ensure that the gaps that

exist between the language spoken by the child and the medium of instruction in schools
should be

1) ignored

3) maximized

(

{2) maintained
(

(4) bridged

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) A teacher is assessing the reading skill of his learners at class 5. Which one of the following is
the most effective way to assess reading?
(1) Dictation based on the text read.
(2) Summarise the text in your own words.
(3) Writing the word meanings after reading the text.
(4) Writing an article on the theme of the text read.
[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q116]
. 1 [Option ID = 461]
. 2 [Option ID = 462]

1
2
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) Vikram was born in Madhya Pradesh and after 6 years his father got transferred to Kerala.

There Vikram was admitted in an English medium school, but after a few months he learned
Malayalam. In this case Vikram

1) acquired Malayalam from the environment.

3) acquired Malayalam from a tutor.

(2) learned Malayalam from the school.
(4) learned Malayalam from the language teacher.
[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) The illustrations in the language textbock allow the learners to

(1) understand the whole text without reading it.
(2) read and learn with the help of peers.

(3) visualize and predict the events in the text.

(

4)read and learn on their own without any help.

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



14) A teacher wants to teach ‘Nouns’ in class 4. Which of the following is an appropriate strategy to
teach nouns?

(1) Tell them the definition of noun and its types.

(2) Ask them to underline the names of the person, place and thing in the text they are reading
and then explain nouns.

(3) Explain what noun is and then ask them to give its examples.
(4) Ask them to complete a worksheet based on nouns.

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q119]
1 [Option ID = 473]
2 [Option ID = 474]
3 [Option ID = 475]
4 [Option ID = 476]

A W N -

15) A teacher is following the process approach to writing a paragraph. What should be the correct
way to develop writing skills in learners?
(1) Ask students to read about paragraph writing.
(2) Ask them to note down the points that come to their mind related to the topic.
(3) Ask them to focus on the grammatical errors rather than the ideas based on the theme.
(4) Ask them to grab some ideas using search engines.
[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_109_ENGLISH_Q120]
1 [Option ID = 477]
2 [Option ID = 478]

3 [Option ID = 479]
4 [Option ID = 480]

AW N =

Topic:- HIN_Q121-128_L2_P1_CTET



") fRder : AEfofaT TET #T UEET (5 T AT F "ag/aas qug gus A
Ao 1 AT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9T5% AT HT F FATE 2q1 8 | Tg go Fa< 7 [avar 77 ot ag eaf feme 1w
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
IHE TS I TET FET & | 39 FTHL &1 Tged 28 [0 Hf gd | Higd Farar
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

T & g TAY Y ATATS F7 Y W § 57 FF oA H e A 2

(1) Tor=er AT & gaga

(2) =t ATaT 519 T

(3) 7T T AZE AT TeIT

(4) ATE TAE AT T
[Question ID = 211][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q121]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]

3. 3 [Option ID = 843]
4. 4 [Option ID = 844]



2 fRder : fREferaa TEe 77 9ETT (5 T T4 ¥ ag/aa9 I9gw I9T AT
Ao 1 AT
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9Te% T 6T | AT 3qT § | Agd gos wa< 9 [aqar a7 |€f 7g eaf fEerme 7o
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
SEH AT g T GET 27 | TF FHeTE A0 T8l 2 00 0 gq 9 [igT aqmn
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

T AT =T a1 2
(1) T TeaT |
(2) Taer e |

(3) = &

(4) FHATTH

[Question ID = 212][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q122]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]




3) fRder : REferaa TE #T 9ETT (5 T T4 ¥ ag/A99 I9g I9T AT
Ao 1 AT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9Te% T 6T | AT 3qT § | Agd gos wa< 9 [aqar a7 |€f 7g eaf fEerme 7o
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
IHE TS I TET FET & | 39 FTHL &1 Tged 28 [0 Hf gd | Higd Farar
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

T F A7 IR g AT At 7 o702 g9 § T5907 § 77
(1) T T T A -7 Ieae Fal g |

(2) TTHT FT FgTH eA -T2 T FeATdT 2 |

(3) ATTZ TAZ BATA-TIT T AT Fadl g |

(4) ATZ TAg &ATA-TIT T FATTET FAT 2 |

[Question ID = 213][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q123]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]




Y fRder ; Fefafas = 71 9297 @5 77 T4 F ag/aas gugT 997 qT
Ao 1 AT
STt T AT TRIA H AT T AT FHT RS T FAT T 2 | ARTH
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9Te% T 6T | AT 3qT § | Agd gos wa< 9 [aqar a7 |€f 7g eaf fEerme 7o
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
THE AT N HET GET 27 | 27 FTHAL A 260 T8 [0 A gd F [igT aqman
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T o BT T T | 33T geehl-HT e H-977 FT 95 5fod Fdl g (e g
T ST E |

TN F T3 0T T Sord AT T g 2

(1) SSTAT T FTEAHF THT HT

(2) SSTAT HT T THFT

(3) ASTAT T FHATLT T T

(4) SsaT T FEorrer T v
[Question ID = 214][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q124]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]

3. 3 [Option ID = 855]
4. 4 [Option ID = 856]



5) fAder : fAeforad T #T 9EET GF T TAT F TE/AEE FI IAT AT
Ao 1 AT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9T5% AT HT F FATE 2q1 8 | Tg go Fa< 7 [avar 77 ot ag eaf feme 1w
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
IHE TS I TET FET & | 39 FTHL &1 Tged 28 [0 Hf gd | Higd Farar
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

FerTer T 5 Fr F TATE T8 gt AT Al e o FAT ST HFAT 2
|

(1) 7T =Ter

PR EEIED

(3) T AT

(4) T ST

[Question ID = 215][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q125]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]



o) fAder : fAeforaa T #1 9EHT G T TAT F TH/AAE T IAT AT
Ao 1 AT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9T5% AT HT F FATE 2q1 8 | Tg go Fa< 7 [avar 77 ot ag eaf feme 1w
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
IHE TS I TET FET & | 39 FTHL &1 Tged 28 [0 Hf gd | Higd Farar
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

AT = ATLTT 9T gl o1 FFhav1 2 T
(1) SSTAT T T TR FTZTHL D0 39 3 |

(2) ASTAT FT AT FHAT &l freT A3 2 |
(3) SASTAT ¥ TR FAHTT dHri 1% =l 27 2 |
(4) FSTAT FT THRO AT T F97 2 |

[Question ID = 216][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q126]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]




7 fRder ; fAwfeafas T=mer #1 9297 U5 T0 T4 F ag/aeas g9 997 A
e it FfAT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9Te% T 6T | AT 3qT § | Agd gos wa< 9 [aqar a7 |€f 7g eaf fEerme 7o
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
THE AT N HET GET 27 | 27 FTHAL A 260 T8 [0 A gd F [igT aqman
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |
“THIE-STE’ TET-3H FT IR 2 |
(1) THTATAT
(2) g7
) RELEIGIEED
CIEEIRED

[Question ID = 217][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q127]

1. 1 [Option ID = 865]

2. 2 [Option ID = 866]

3. 3 [Option ID = 867]
4. 4 [Option ID = 868]




8 fAder : fAEforaa Terra #1 BT qF T TAT F GE/AaT g IAT AT
Ao 1 AT |
ST 6T AT [RTSAr F AT [T 0T TAT THEA T AT qeg Al g | T H
FIHT ATET, H27 & 9ga gt | 27 fHomer T + et ff e & arar 1w #ie Ff
9T5% AT HT F FATE 2q1 8 | Tg go Fa< 7 [avar 77 ot ag eaf feme 1w
+ Tl o T § @2 g FT T S AT | GO AT R A9 g 99 A8
ATATH gl 29 g2 ° Agl diodh I F0T T 51 AT gl 2 | AT [A[ATH ATeAl
IHE TS I TET FET & | 39 FTHL &1 Tged 28 [0 Hf gd | Higd Farar
wTaT g | UE AT v Y 55 3 O Y g9 F F wdr g | Ig F5
SATATHE T T TT=eT g «mar g | Ferelt anT 5 Tt 3T B §0 sl Sig-s9Tg
H AT E | FHEL TAH g | F TAT A A, T AGA, ANE ISAI-F1TAT TAg
T TR ot 1 & 3T Feh-HT e H-T4T A 9gd oo FAAr g T g4
T ST E |

Feréror-Férer a1 SRTET Aty
(1) eata-a4r

(2) =T T

(3) Thr Bt

(4) ATE |

[Question ID = 218][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q128]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

Topic:- HIN_Q129-135_L2_P1_CTET



") fRder ; FEfafaa T 71 TEET T8 T T4 F ag/aas guge 997 a5

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

1 1 e o L B e Pl s O e - e B = s e
FE FH qITAT § 77 28 B F aefi7 757 = Tien afew 57 = Fon
ARY | TFAsT T & WA H e ¥ = 3=y | e 2l Gt e
FETE7 Tl 97T F TaEaAT 99 | 9 T Jow F1e7 Fit 99T 985 2
T 9T T FHFT FAT , T T AT AGTAT T F F% 0l 7 Tier
FTATE |

AreRfA AT F1 o 2

(1) &reAT o7 R 7gar
(2) TEHTEAT 9T 9T T
(3) =% v R g

(4) @reqT F 9T AT

[Question ID = 219][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q129]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]



2) fader : FafofaT Ters &1 w2F 95 T7 7497 F ag/aad gug 997 I

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

1 1 e o L B e Pl s O e - e B = s e
FE FH qITAT § 77 28 B F aefi7 757 = Tien afew 57 = Fon
ARY | TFAsT T & WA H e ¥ = 3=y | e 2l Gt e
FETE7 Tl 97T F TaEaAT 99 | 9 T Jow F1e7 Fit 99T 985 2
T 9T T FHFT FAT , T T AT AGTAT T F F% 0l 7 Tier
FTATE |

AR TATAT AT T FATAT 2 |

(1) Fgrrofier
(2) Tfre
(3) AT
(4) T

[Question ID = 220][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q130]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]



3) e : FafofaT Ters &1 w2 95 T7 7497 F ag/aad g 997 I

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

FoF-3mT T¥ T 2w g e =g BT 7 w2 | A5 9 '9ar | At g
FTs WIH ATAT ¢ a1 28 et = AT Jg1 Tgar1 Jiel e 38 w53 FidAT
AT | Usher=d ¥4 & TAT & gef==n § 7= a=7 | Foe 3w FH=ndt oo
AT ATEl G F TAHAT a9 | 59 9967 q@a1 F1e7 i 9097 T2 2,
Tk 99T T 9T FLAT g, U T ACHAE AT TT9F § 3w o 67 e
FTATE |
TSN F ATATE A=A AT T AIA-A17 77 g g &
(1) 78 TH AT 14 AT F AT |
(2) g TAZT T ATALH AT AT |
(3) & ZHAT T ATAT FT TUAT FLIATZ |
(4) =g T T AT HT A Hge AT 2 |

[Question ID = 221][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q131]

1. 1 [Option ID = 881]

2. 2 [Option ID = 882]

3. 3 [Option ID = 883]
4. 4 [Option ID = 884]



Y fRder ; Fefofera =T #7 vz 05 77 T4 % ag/aas g9 97 I

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

1 1 e o L B e Pl s O e - e B = s e
FE FH qITAT § 77 28 B F aefi7 757 = Tien afew 57 = Fon
TR | U A & g F gqtEen ¥ w= a=r | e 2fn femeft e
FETE7 Tl 97T F TaEaAT 99 | 9 T Jow F1e7 Fit 99T 985 2
T 9T T FHFT FAT , T T AT AGTAT T F F% 0l 7 Tier
FTATE |

TS T TATH H aeiaet § WE S9T | i 9758 6 T I FE-Ar
9Tsg YT fohaT ST HsFar g ?

(1) for

(2) afvar
(3) ArERTAAT
(4) T3

[Question ID = 222][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q132]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]



5) fader : AafolaT Ters #1 92 95 T7 T4 # ag/aad gg 997 I

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

FoF-3mT T¥ T 2w g e =g BT 7 w2 | A5 9 '9ar | At g
FTs FHH GATAT ¢ ar 24 Al & AT 781 g1 FA1gn dfew 39 =5 FAT
AT | Usher=d ¥4 & TAT & gef==n § 7= a=7 | Foe 3w FH=ndt oo
AT ATEl G F TAHAT a9 | 59 9967 q@a1 F1e7 i 9097 T2 2,
Tk 99T T 9T FLAT g, U T ACHAE AT TT9F § 3w o 67 e
FTATE |

TH T FEAT ANQY | TG =3

(1) ToaT=F H4AH
(2) A= g9
(3) FreTaT== Taar7
(4) HETATHF TAATH

[Question ID = 223][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q133]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]



o) fader : AafofaT Tere #1 T2F 95 7 T4 F ag/aad g 997 I

fAFeT # AT |
AATTITAT & 9T § — H9T FU7 97 741, 91 =0+ T3¢ F {g F 7l arsd
T BT AHAET 29 3 | AHAAAT AT F AF FATEN 3 | S at a9 &l

1 1 e o L B e Pl s O e - e B = s e
FE FH qITAT § 77 28 B F aefi7 757 = Tien afew 57 = Fon
ARY | TFAsT T & WA H e ¥ = 3=y | e 2l Gt e
FETE7 Tl 97T F TaEaAT 99 | 9 T Jow F1e7 Fit 99T 985 2
T 9T T FHFT FAT , T T AT AGTAT T F F% 0l 7 Tier
FTATE |

75 & & F9-97 arAfadar 1 7 qgie ?

(1) ATH-ATT 97 F=TH AT
(2) sae v AT g
(3) foft & apefter =gar

(4) Telt & a7t 5 7

[Question ID = 224][Question Description = CTET_P1_PART_5_L2_SET_109_HINDI_Q134]
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